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Polarity of voltage vg. (a) (b)
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Figure 1.9

Two cases of an element with an absorbing
powerof 12W:{a)p =4 X 3 = 12W,
(b)p=4X3=12W.
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Figure 1.10

Two cases of an element with a supplying
powerof 12W:(a) p= —4 X 3 =
—12W.(b)p = —4 X 3 = —12W.
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20V @) Py P3| |8V Ps <+> 0.21

- p>» =12(5) =60W  Absorbed power

ps = 8(6) = 48 W Absorbed power

Figure 1.15
For Example 1.7.

ps = 8(—0.2I) = 8(—0.2 X5)= —8W  Supplied power

prtprtpst+tps=-—-100+60+48 -8=0
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Figure 2.23
For Example 2.6.

Solution:
We apply KVL around the loop as shown in Fig. 2.23(b). The result is
—12 +4i +2v, —4+6i =0 (2.6.1)
Applying Ohm’s law to the 6-{) resistor gives
v, = —6i (2.6.2)
Substituting Eq. (2.6.2) into Eq. (2.6.1) yields
—16 + 10i — 12: = 0 = i= —8A

and v, = 48 V.
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Solution:
. Applying KCL to node a, we obtain

I
% 40 G A For the 4-() resistor, Ohm's law gives
v, =4i, =24V

34050, =i, = i,=

-+

)

Figure 2.25
For Example 2.7.
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Transformation of independent sources.
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Figure 4.16

Transformation of dependent sources.
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A circuit with two meshes.

—R3i; + (Ry + Ra)i; = —V;




oo Joli g

—15 + 5i; + 10(i, — iy) + 10 =0

3f] -2f2= |

6is + 4i> + 10(i» — i) — 10 =10

EIZZEZ_I




oo Joli g

Gl pripsy lebon obe Jalad 5 soliil L sPA JUs

wi D in

< <

Vvolt :> (1\\ | YQ

?\fOlt(I) @ %\Q
<

m%

Y+, —iy) +F+Y(, —iy) =0 raaols (V) Gla s KVL Jlacl
Y(iy —1,) —#+¥(y —1y) +lip =0 " aauls (V) ddls 5o KVL Jlael b

5]




r

A

=1, =YA,iy =YA

oo Joli g

—> 1y

¥ =) 9
=¥ ¥ 9
=Y =X &
¥ =\ =¥
we S s,
Y = P




oo Joli g

—20 + 6i; + 10i; + 4, =0

6i, + 14i, = 20

IT2=I+[+EI'

I = —32A, i =28A




oo Joli g

S wanlaa b iy g By o Iy slaokos ohe Ji=3 S ool L sW) J0s

=Y+, —iy) + Yy —iy) + My =0 =i, — Fiy +¥ip =V

-




MW O
80 6V<i> iy 40?@
 AMW i
O
+

4ﬂ§‘ﬂ OR (a)

) sQ 4,

AMNN—s

v=uv t+ v




HUT pom anad

8Q
MW o 12i, —6 =0 = n=035A
; -
6v<:> Q " g_"l vy =4 =2V
° 4
(a) Uy =m(ﬁ] =2V
8Q
ANN———
iy E
- 4—02 C* - I3=4+8{3}=2A v, =4i; =8V

U=U1+U2=2+3=1{]V




HUT pom anad

Sl alaS adl £ canglie 5 0aud B G5 25 )l 2 0IE JUs

N PO
f—’\
; (
A9 7Q) Y -D " fQ
I
V€2
\OV L
WY, l




Q2

HUT pom anad

\
s+ || (+)] ot
. \
I\=-—\——-XI=-—I-Q=-/V0A
Yot Y
g Yoo '3
"= ) = =—A
vHoll(+D] ) F
v
\ s 0N
I, =——XI"=—x—=+/Y0A
O+\ - o ¥

[=], +1, =-/vo+-/Y0=YA—Fq =¢I" =fx\ =fW




ol yaol Wi 1y OL2 WJolie S 5030 0




Gonul Luin sl ¥ olie ol 55 sWG JBs

! FO YO p2 |1 oFQ
AR AAAA—AAMA— —AMA—HAAAT

| 03!
A = - QD\‘A ‘°Aq5 ;

I

N

- ——— -

f1, YL +Y(F+], ) =oAL ==\ Y, =— = —\/aA
A

[ =—V/b
P.o =Y(5+I, )" —= >Pro =YX¥/0" =f-/oW



KCL g KVL us 5

A
©

Y FV =1 aV=— V= -
Y

e e _
Y‘Ix+f(lx—.\;’-)—\‘lx=o YRy ¥l (L )T =030l =Y L =¥



L5y aia b silge sl ladl adS g b > aia b (6 sl pladl &S
Qg Bl laa 5l ailgie ;5 dalpd )18,

rila Jlgms 390 Bda LB axla b oLl Blei b ol Sl (al

Al Jlgs 090 59530 5lidy anie b 0l aade Ol b bz Sy (0



P

el Haia R croglie ols3 53 Hlas Lo €D JU8

R=¥Q R=¥Q A
—AAMA—
ov(E) r |
YQ YQ YO \Q V()
1 VE) Al \ VC> YA qb
YoV fA 7V b i 6 e OV NV

YA
VA _\'_I_VA —'ﬁ+r:0______>><f VA —\'+TVA —Y*+\T=L‘-—)0VA =\A VA =-;—=TIPV

Y . Y
PR__z(\.-—VA) =(\--\“/?) RZA B

i f \




(P Jole jlae) Joleo sbdylow

| a RTh I a
. —_— -
O A O0—
Linear - +
two-terminal v | Load Vi v | Load
circuit - o—,
4{3_
b b
Linear circuit with o d
_ —E a all independent R,
Linear ‘ sources set equal -
tfvu-t.r.':nmnal Yoo to zero o b
circuit -
—o%b Rm= R,
Vi = e .
lﬂ‘
0 .
Circuit with o
o o all independent n
Finding R+, when circuit has dependent sources set equal C— “
S0UTrCESs. to zero o
b




(5999 Jole jlue) Joleo b ,low

Linear Ca
two-terminal

circunt 5 b
(a)

O a

o b

(b)

o~

Ry = R,

Linear
two-terminal
circuit
V.
Iy=—
R

o 0O




0999 Ol 9 o9 SWeigl Cwglie dwlxe (IS g9,

a Ir b Ip s Vp g ol G il 50 IN Vin o Rip walss )
N Vs cwd o Ip 5 Vo s adaly o g ou S Glalb 52 s g0 o
Vp =aip+f 20l o g0

b

wlis s s, 5 g cael Vi glaa By Ry olod 0 (g aaliie 358 s S G Lol

..L\'i C.t.u-h.‘uI -
LT S =N a



Jolee gl e

A9l Cowd sy sl 50 1) (igi Joleo ke s Sl

40 a
A" . *f.[.

R, 30V (3) g’ R,

4 % 12
Rpm=4|12+1= +1=40Q
O b
P o 2-Vm , _Vm
AMA ANN—O @ 4 12

_ 06 — 3Vq, + 24 =V, = Vg, =30V




Jolee gl )l

qm‘isIJSBJAfuJJJ‘CﬁﬁjmJIFadm

LV €0 YO
—@ - AAAA
@i vysra ®FA £Q sA  (ONeV
\ ;' - B ]
\Y Var=\: Vin-V
‘:B + AB 4 AB X =\ xt )VAB +Y(VAB -\ °)+VAB "'Vx =Y
Y ¥

Yo
YVAB _VK =¥. :’TVAB —tﬁ:f'—}fVAB =fo— VAB =?=\ \/chV—-)Vth =\\V/vaV

Y
—-Y-+¥YV, +V, =0V, =—=pV
'f.



Jolee gl )l

A9l s & 15 5l 53 15 (3995 Jolre le : JUie

80
MM oa
$Q
10 o AN O oa
EAG) §5ﬂ
12V Ry
- L, 4n§ 5ﬂ§ S
8 Q
$Q
o A o b
20X 5
_ _ _ _ 80 .
Ry=5[(8+4+8=5]20="1"=40 sa a

Die D

iy =2A, 20i,—4i, —12=0 2a ()

h=1A=1i,=1Iy WA



Jolee gl )l

S| ,GMS AB w90 049" C’a.ogl.a.o 9599, )on 39 Jl.».o




Joleo gl ylone

V i=—
<_'>=-—°—+Tin ==l > Va =YIT (‘)
\
.V
Yi, +YV, =i, +— (Y)
v

. . Yig+Vp . Yi, + V.
Yi, + YV, =i, + L 5is#tV, = : L
Y

Vo =4(YI1)=Ip = Vp =\AIp =Ip = Vp =\ = Ry, =\vQ

—>i°+‘\V° =VT




Jolee gl )l

. B i > < rR2H_,
Bl —> R—-:‘{-—“‘B ]
- vV
V )
7 _ . oV — R=——=—
\Y v — R———-UV— - W aV




Jolre sl oo

S| 'oLxS AB g 90 )'| U"B" C«oglﬁ.o 95°9) )M.o 99 JL..o

¥Q
—ANMN—OA
) i = —_ = =V-
vxgwg <!>\"A §AQ : Rth-('if'"}\" A)+f=\F+¥ Y.Q
- —
1V
fQ
""va-m A ANA—SA
I' ‘\
+ ,l'-l- V“‘
v asa  saiv,XHS —5 1503 AQS  -AQ
R '
\\\ ’I ﬂB 4.B
‘L_,, Al
V.,
Rp=—2—-=-A0
F V,



Jolee gl )l

gl Cawd wly gl Cwglie g (g8 JLdg g9, Sl o i Ul

V Y 'l‘ Qb SA

—~—
&

€

>

_ Ao oKCL Jloel b — T+ =1, +1,
V =i,

I+o0=—V/0i, +i, = I+8=—-/8i, =i, =-Y(1+0)



Jolee gl )l

W9l Cawns Iy (99 ye8 Jolro Hluw 939y S yluwe 4o JLe

Vgt =<, 4 15)
Vo ==Y+ A-=Veig +V-Ip

— Vp=g-=Veig +V:Ip ()




Jolze gl )low

o250 ¥ ail> ;o KVL Jlog! U

Yo+ VT
VO
el Y alaly o ¥ adaly 5,180 b

—Y0iy +Veiy +Y-+Vp =0 —5\0i, =Y+ Vp iy = (¥)

\ -
%VT=?-—G(Y-+VT)+E*IT—)\&VT=&-—~Y-+——1-VT+\&-IT = YoV =v--+\000p

—}VT —_-f'IT‘I'YA




Joleo gl ylone

reaitls paal s @aiS Jusy AQ casglie S 5 S (s a8 B 5 A sl bu S0 JU
dé)}.aé)d«VAB:AV :w‘dﬁ‘“‘\,&‘ﬁ:‘sd“‘:\’ ‘a.A‘\‘ &J&aéubibﬁﬁ‘chBz\?v
Q:J:\Sud‘%‘s_)‘&‘l% VABﬁSSJaAJGL:L:JJC,A.‘Cﬁ\'°QC»JG‘.Se




JOL&Q 6‘.0)'0-0

Ry, A
AQ ->VAB=\7V—>VAB= VTh="’—>V1h="+"Rm (\)
A+RTh
B
RT'h e
YVTh
YO '—)VAB=AV‘—'}VAB= =A——)VTh=A+'fRTh
Y+RTh
B
o VP + YRy =A+ ¥Ry, > A=YRqy >Ry, =¥ = Vg, =YFV

X s
Y.+

Y¥¥

YeQQ

VaB =

XYE=YV
f-




